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AFEHAERER T MU ERNTAEL AR ELR R ALELT R,
HAZRE BREAUR BB EBENN AR RRER SN,

2HkHAE.

FLEDANEERTHEARARHEN BT AR R X g X, 3
MANRTERAZERTYIREBTA RN ESERFAR.

F2HE AN A AEBLEMAH XU LR ELET AN XIE B A
“WrE G REMG R E R L, REARDGEFETANHN”, R 4
w7 (i) F“FE W), i E MR T LW F LMY FEE) T e #
WA KT “H9”F 4 W HE. dsh, RE Hankamer & Sag(1976) B9 “ K & vs. &
BEEHR  AFEH#—F AN F— XKL WEE W FERAREENE  MHF =
RAFEE W FEMAREER XERFARTECERH W, 25 ¥
BR A GG ek A,

FIFRXFAEBLHENE A LA R RERE 7 RN ER
BIERAANRAEREANEIBTAXAAE T NH AL EEE AR, &
WA H AERBETRXEHFAEEEBIAAG TR TR BN A EFKE,
A, AEAR Y, FETHE, RERES vxP R CPANERS . EERET
hEBHEREE.

FAFFRHATHREMAH AR LFAR AN ARKXEFLFAE
KEPHRERBN"FHAERE., REARXEFLFAE - L RA W5 17
B, EENELLRTHRAS., RAERER BB R, ANHF DaEH
BE—NEESEEREFARETZBREFREACRHRANW HAZHR
AEAH G TFREEH.

ESFERAREGEHMAR XA UARAANTELE LR E, AR
RERTEFHRREFFURERTEAFHRRFAIARE G R RA N4 ZH
. NTIRET XEREE AL LRRAN X ERE AL Ayt kRm
ZR. WA EKFARREEARMTLATHRE Y R E £1E pro, N 45
WABEL LM, T LG E W EE TN RM R, RUTRENRE
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B (ellipsis) Z HRBEE T HEFEN—MIESHAR, W R GEX . F
RUURME BT, BAE S. Winkler (2006, 109) f#F 5T, £ BL/LIE 2
WL EHBEIRIE S BT S A E AR, RIE R Quirk(1985.
883) B WA A, » 44 B BB AR A7 AE “ 15 15 Bk R ” (grammatical defective) , {H E #5152
“IA){EHE Y (verbal recoverability) ., 2% T,

[1] She can’t speak tonight, so she won't

FEGI L] BB s R TERTE A R E 2 B, B speak , RAFTEE L, {HAE
FE— AL , BB B E R HTE 5 R A Ik —F, T B RS -

[2] If he works hard, I won’t have to

FEBI[2]Hh , W8 ek 1 B2 AT R R A0 P i) work hard , fBLFE 53 Sb—Fh ik
B X AMRBORAESL T 5 40 F B

[3] A: You should talk to John for his negligence.
B: If he works hard, I won’t have to

TEA (3], 48 W 1R A % talk to Johm o BRI T & JEE AR 4 AN PR F8) 9 A
5r. BESHTH.
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[4] The man admits buying a knife from a store, but he can’t remember
which

EFI[4 ], AT & A A 1k —Fh, BE AT LA which kwife, 7] LA which
store, R, B FiE5F ARG , 48 W2 7 A s Sl DR A, 1 10 A B LA iR
0 U 7 A ELAAR 1B B8 TR 45 DA SE R, AT & IR AR 4 3 A JS BR T ] — Ui A )
F TR, AT DAFER R ULTE A RYXS 36

B R AR &, KB 4 10 4 i (NP-ellipsis) | 2l 1) 45 15 4 #% (VP-
ellipsis) . 3}j1i)45 #% (gapping) . B 21717 44 W& (pseudogaping) . | & (stripping) . #
4 (sluicing) , %55, W H B 7w

[5] a. Harry bought two books and Ron bought one
b. Harry plays the piano but Ron doesn’t

c. Harry plays the piano and Ron the flute.
d. Harry plays the piano better than Ron does the flute.
e. Harry plays the piano and Ron , too.

f. Someone is playing the piano but I don’t know who

TEBILS ] (BT A 48 W R A AR AE R S G5k b, v, Bl [5a ] w1 b0 i)
books , J& T 4414 I ; B[ Sb 14 Wt T Al iE plays the piano, BMLZ K2
Bhid] does , J& T3l 17 5 75 4 Wk B [ 5c 4 W T shiAl play, J& T 3hiR 4 ¥ ; 6
[5d | W% 1 3liA play, RIRZ A ESTE does , J& T8 23 B4 5 B Se | B
T E#E Harry Ll RAE s8R too 1B LAR B 240, R — g BR  JB T #1854
A0 B (5 ] Fh RAREE T B a] 3R] who , i A - B4 02 15 0Bk 4 30 R . 4
A A WO
B, XL M S I AR R B E = AR . S5 T

(6] a. ABMEXTHAAS , HB/ET —& .
b. 4B X T WA, B4R .
c. x WX T AU, H WX
d. x 4/ X T ML, HEE mX.,
e. » M ET ML, b o

f. AAERT DR,ERT i 2 # -
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w6 JERIHFIE5H . B[ 6c )R, FEIHFUETH + , 56 /M I A A BEA
W% B 6d [ W], “ RV A BER AT I ShiE sy ; il [ 6e )R W, 76 9B “ il AN
B SRR R B B RTR T, AR U A BEREAE Wt . tish, B[ 6a ], B [6b]
FgI [ 6 10122 B , BUARDUE o U A7 76 4% 1R)48 W TR e IR 14 i1 L

1.1.1 #HEES5RERIE

RTAMNTREFEAERL, ERWAA—. WRFTE, MR
TR I B BN ARRAFSE . B, SH T

[7] a. Dogs, I understand, but cats, I don't.
b. % Dogs, I understand, but cats, I don’t know a single person
who does tunderstand-t1.
[8] a. John blamed himself for losing the game, and Mike did too.
b. John blamed himself for losing the game, and Mike did
Ehlame-himsetfs too.
[9] a.John will take care of him;, because he; won'’t.
b. * John will take care of him,, because he, won't Ftake-eare-of him .
[10] 2?7 A lot of this material can be presented in a fairly informal and

accessible fashion, and often I do.

BIL7 1R, B S5 MR R 22 2 R IE S B8 IR FEAREKMH AT,
himself HIFFHEASRERE John , T B i Mike , A SR AL P24 il 352 5 B [ 9 1 3%
B TEL R A B F » he Hl him ARRBILHS ; B [10]%€ M, i R KM A AR
— I SR, BEE T

[11] I don't know what Bill will buy, but I know what, he should
[buy t.]

[12] The thief was captured by the police, but I don’t know if the
burglar, was [ captured t, by the police ]

BL11 R 12 153 5 B wh -B AL RIS TER AL, B AL B AR 2R B 4 BS54 N
B IXHLHE— AP UE B T4 WS G5 A8 N IR AF AR A TE R AE . [HR, [RIFE A IIER B,
B WG EAIFARBUAIER Y . 2% T
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[13] John wrote a better essay than Mike did.

HHE J. R. Ross (1967) 9 W 5%, A1) ¥ B A L 1& 4 43 & 4k 1 (left branch
condition) , #ll N 7 «

[14] * How successful; did John write a t, play?

EFI 14, SETE LS successful WA TRSIRPREL , 7 1 A4 %M N
migEH RdEE: . C. Kennedy & J. Merchant(2000) # H , .45 9% 45 ¥4 . [5) B¢ 75
B ZE 53 3584 i B BT

[15] a. * John wrote a better essay than Mike wrote a poem.
b. * John wrote a better essay than [ wh; Mike wrote a t, poem |.

R#E Chomsky(1977) fyEiE, L BB L5 &£ 4 1 AEE T (A'-movement) ,
BIL15 361 T A5 3444 N g b dER: . 2, B[ 131 &1 0, 2iE thig
A WG I AN AL )

% F LA b [a)8,A. Kehler (1995, 2000) 2 H 1% Bhif 15 T i % 5 2% & k4
Wi g PR B Ak . S5 T

[16] PURZRGERKD
a. John is a driver. He should be careful.
b. John is careful, because he is a driver.
c. John is a driver, but he is careless.
[17] BERXFRGEERD
a. 7?7 John is a driver. He should wear jeans.
b. ?? John is careful, because he wears jeans.
c. 7?7 John is a driver, but he has a daughter.
(18] HAPBIRFR GEBIHD
a. John likes to play basketball. Mike enjoys reading novels.
b. John walks to his office. Mike rides bicycle to his school.
c. John looks unbeatable, which his rival appears defeated.
[19] AHPRERGEERMD
a. 77 John likes to play basketball. Mike drank coffee.
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b. 77 John walks to his office. Mike bought a new suit.
c. 77 John looks unbeatable. The president resigned.

Kehler 42 t , 8B FR 349 BR7 4n 6 85 B8 SR 56 28 AN 75 S8 A0 v 3RALE T4 Bk 114
AT QRS A AR R T BEATRESRAE . 3 328 P R AR B 0K 2R R0l o AT vk G5
HRAN ), TR KR SarNAFAR ., S5 T

[20] a.John wouldn’t introduce himself to everyone, but Mary did.(4H
IR
b. Since John wouldn’t introduce himself to everyone, Mary did.

(HRKF

FEBIL 20 ], [ 202 IASFF AL A5 132 » T [ 20D JAF E /AR . 4% i Kehler 931
A FRRASR AR B M L T 22 1R TR M S A TE )3k _LRARAER) . B2 A BIE
W, BERK AR T A WG AT SRR B a) L2800 an T Bl B 7

[21] * John will take care of him;, because he, won'’t.

IEGN ESCRTA, B[ 21 [5B#F 7 A IR0 B, E gk ks . #58 Kehler fy30
S BRAAFERIRIC R , PR G4 W 540 R A 8 D FE RAE , B AR TCRE HERR L A
MIAGIETE. BOh, IEM R R BTN T — 804 7 9 AT M, 40T Bl BT 7

[22] a. 7?7 This problem was looked into by Kim, and Lee did too.
b. This problem was looked into by Kim, and Lee looked into

it too.

Xt bl 22a 1R [ 220, J& & # A] B 32 B 5 L 1B 2 Kehler B3R S #IARE X 4
WA TE AT B2 B 225,

BARTEZHIERY , BN ERIE. (BRI SET,
M) R B A SR ) A R — B 3X PR 2 SR S T 4 W 3800 T R 7 o AR X
h&AAEMH . 7E Chomsky(1995) # Hi () Y — 4574 (Y-modeD) F , i 48 =\ f1 &% &
RBEMCIEAVER T X H 2 i A TR 18 4 RN BRAE .

TP FaR A, J. Merchant(1999, 2001 #2H T “[EJ4F4E” . [E)4F
TEVE R — S REH L6  AETE X BRI A P AA7E 1714, 5HANE B IE
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X—F, WRZAMFRENWL, EHRAIFSHIET N ZRMEEALE .
W BT -

[23] Bill kissed a pig and [ Mary might have¢ A, too.
P

DP, I’
Mary 1 AuxP

have | DP v’
I

’ /\\

L v VP
\% DP
| AN

kissed apig
B1-1

G 23 ]9, A [ E L SR ETE R PAFAE—A> vP, 5| ¢ kissed a pig| J#Y
BEX—B. WE, ERERLSHET A BRMEEART . XFPIHTHRIM A
16T, [EJFRIE RAE AL X o g A Y 5 B 80 3 30 5 8 R R o 38 AR DR B
PRUE Y 238 ANTE T AR XS B BR A B BTk . sbdh , 3R o bt AT AR B A
2N ERAL RS IR BB 2, [E RHE B R ALE TIHEF AR E . H
& Mary B MBRALES i, FE[E JRAETEBEZ 5 , A PR B BRI AT 5
WSt , LE JHFAE 0 AT LA ffp Jee 4 Wit 14 ] e84, 40 F ) s

[24] a. Mary kissed a pig, and Bill kissed a pig, too.
b. Mary kissed a pig, and Bill did A too.

B[ 24a F4 [ 240189 X FITE T , BUEAES 51 L2 T A9 324X (numeration)
PARALELE JHRHE , G & A FIZEHE , S 8US & &4 B ERE.
1.1.2 HEEH=fER

4 BRI W AR (9 R0 R AN ) 48 W AT LARE o R = Fh 8 AL . AR
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s (ol i) S I (B 25 BRES ) 55D /)N i) 4 s (IR 45D FN45 TR 148 g (1A
BESE) . X B BERILE STET . B— AR E R R AL =5
Ay ep, AL B RS R R R A B /N ERRE R 5 B T SR — ) IR R R
“EATIEANVEY LE T SATIE T R A R T B R A B BT BT
BB = 0 & 7 A IS BT R 85 8E ar IR FR 8 R AR R4
(remnant) ,

11.2.1 483EH %

TR R4 W T AR 4 1 2 SO /) b i S B TR B A B A IR G R
B B B R A iR 48— BOM S NE TG, (BRI i A B R 3208 (9 L B AR AE
TH LR SN, B A ZZ N, &% 4.

[25] a. John reads novels, but Bill doesn’t. (BhiA) 1B W)

b. He will read something to Mary, but he won’t to
Linda. (s R g5 4D

c. John will read novels and Bill will do , too. (FExX
i do)

TEFTA TE IR YA IS A, 76 A2 BOE B HE SR N O SR B) 1Z W2 3] A i
4% (J. Hankamer & 1. Sag, 1976; Sag, 1976; E. Williams, 1977; K. Zagona,
1982; D. Hardt, 1993), i [ 25a ] fr7x . 49 [25b ] g 18 25 Bl 45 44, 3= 0L ) 0
M (K. A. Jayaseelan, 1990; K. Johnson, 1996; H. Lasnik, 1999; Kennedy &
Merchant, 2000; Merchant, 2008) A4 , {23 G544 0] DA g R J2 18 1A 45 I
HIB RS TE PN 4 BRORR 23 2 A0 ER, an s [ 25b ] o il B A AR 43 A 1) S to
Linda . X FREBREH , 7 H WA EZE D TR A B8 AL Al U 5% AR AR
IrRARRTIR R AL? A AL BRI/ N7 B[ 25¢ ] 5 18 18 4 i 210l 7 AE
FRAZE P, B SE5IE A 10 X FFE TS L A1 shiR do 1Y
JERREIE R, M BFFE 4% L. Aelbrecht(2010) 1 M. Baltin(2010) %,
AETEEMAE N — RSB T BN WHIE TR EZIEERHEA
WA AR RAE . B, Bk B “—FOCR” (agreement) , i1 N B 7R

[26] a.didn’t think there would be many professors at the party, but
there were/ * was.
b. I didn’t think there would be a professor at the party, but there

* were/was.
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B[ 26 11 , were/ was T BAE ¢ —FFIE L 5 M BR AL PO AP & 35 19 1B Fr
— B, MR AR . X R, B BR 5 3h 1A SR R ) ik B R RIER .
IR A KB OB B 7T B T0) BIIETE 3 B, A48 W 42b RE 46 1k U AR 40
nF B R

[27] Q. Salaxt etmol et ha-yeladim le-beit-ha-sefer?
send.2sg yesterday ACC the-children to-house-the-book
“Did you send the children to school yesterday?”
A. Salaxti.
sent.lsg
“I did.”
(L. M. Goldberg, 2005: 2)
[28] a. John seems to be happy, but Mary doesn’t.
b. John was arrested, and Bill was too.
[29] a. I know which books you like and which ones you don’t.
b. Potatoes I like, but tomatoes I don’t.

w2718 X iEBAL, KE TR EIEAK, BT shia&E V-
stranding) , X PP BRG I il A7 7E T A (0 Ok 15 . 8 % 718 G B oA BLiE 508
B . HRHE Goldberg (2005) 1) W 4 » 2 ia] Bk 3 1 “ 3l 17) £ 8, 225K ” (verbal
identity requirement) . “ B 1) 4 7H44 B ¥ SEA TRV AT B AR /Na) B9 3 sl iR 20
TEARTF M RTE A& P H/h—3. 7 (Goldberg, 2005: 171)

PIER, IR REHF T 3hia M A EK, shia M EE i Agair mr
TN . )

[30] =* Léigh mé an dan ach nior thuig.
read[ PAST| 1 the poem but not| PAST | understand [ PAST ]
Intended: “I read the poem, but didn’t understand it.”

FEHI[30 15, R BhA) thuig A BE AL Hl R &5 29 B8 A4 S 2 6B & 5, (B
AR AR .

EREER R, XM A AERIFEN A TRAEBA. #(28]H#
FIL 29043 513 X6 768 {if (A-movement) FHE S TTHE {7 (A’-movement) , FH: A~
BIE“AE—3WER, B2, WEAHEMES B MR H K. #lu, RiE
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Sag(1976) BT » AE 18 TORE AV T BL LG ™A% B X L AR A A4, T F Bl s

[31] a. * John gave a lecture on a Chinese dialect, but I don’t know
which he did.
b. John gave a lecture on a Chinese dialect, but I don’t know what
MARY did.
c. John gave a lecture on a Chinese dialect, but I don’t know
which.

e [31a ]9, i HE AL RN BB AL Y wh 4015 Z [BIAFFFE X LA A ZE B [31b 1+,
F & MARY B8 s Al , B5 I A 18 DA 3 19) 438 4 g AL B8 i AR 8 JT i ar . XTI,
Merchant(2008) # T “ & A M Bx £ 14” (MaxElide) : JE #7085 M M B 4L #
B KT BB A B 53 0 2R I e, 75 IR B8 Ryl . FEBIC31b ], fE i
TEBE L 1A o] K F 3l 18] S 00 1Y B4 B B, (B R TR A R S HT$R R, 4
B[ 31a 7R , 5 KM B 2 120 F 8 M I8 %9 B 43 R /DN, T AF 31 16) 96, B
BI31c Jfm.

A, A BIIE SR B\ 318 5 15 B ALl BCES T R 2 W T S AR, IR
1] FF 715

[32] a. * John DOES plan to invite someone who speaks CHINESE, but
I don’t remember what kind of language he DOESN’T.

b. * John DOES plan to invite someone who speaks CHINESE, but

I don’t remember what kind of language he DOESN’'T want to

hire someone who speaks.

B[ 32 ] W , Blyia) S5 W 0 X N7 4 48 s S5 A BN B B A 4% TR R
FAF BRI E AR . X — 2B UE B T N BR AL PSR AE AT IR RAE .

QSR T B3R Ak A AT A ) 9 R A D 7 22 8 R A I 2 40 A S AT 1 T — 3
MR UE R B il i AT SR S5 . 258 T 6.

[33] a. John fluently recited the poem and Mike will too.
b. John fluently recited the poem and Mike will fluently recite the

poem, too.



